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I 3, F (X) 7E 2 X 2Tl
i, By = f OO TER X IIEGNENE  dy = F/(X)AX
Bl 1 skEgy = x4 x, =2, Ax = 0.01 I fIH4
R dy=f'(x,)Ax = (x*)"- AX = 3%, AX

Firbh, M x, =2, AX = 0.01 i & 33 dy =3x2°x0.01=0.12

-32-



HFCHZRREE AXTOVBRERM, iChdx. BILERERIRH IS K

dy = f'(x)dx

hERTE (X = %

B RO S T B o dy BR LB ZRE R dx. Bk, S E i g .

2. WA HIUTE X

ey = £O) LHRPIRM (X5, Yo) » N(Xo +AX, Yo +Ay), & 2-r] 5,

MQ = Ax,QN = Ay .

A M EREYIZMT , MR H o,

M QP =MQ-tana = f'(X)Ax = dy

HSE P RL, 2 Ay EfiZky = f(X) LR

INARFRI SR BN, dy At H R AU 2R A R

ONALFREIAH R A B o Xl T R LA R S

=, WamEE
1. WA EIFEAAR

M d(c)=0 (cHuE%0
3 d(log, X) = ——dx
xIna
(5)d(@*)=a*-Inadx
(7)d (sin x) = cos xdx
(9)d (tan x) = sec? x dx

(11) d(secx) =secx - tan xdx

: 1
(23) d (arcsinx) = dx
V1-x?
(5) d(arctanx) = dx

1+ x?
2. WoHEEEN

(1) d(utv)=du+dv

K 2-

(2) d(x*) =a-x*"dx
(4) d(Inx) = 1dx
X
(6) d(e*)=e"dx
(8) d (cos x) = —sin xdx

(10) d(cotx) = —csc? xdx

(22) d(cscx) =—cscx-cot xdx

dx

(14) d(arccosx) =-—
1-x?

dx

(16) d(arccotx) =— 1 !

X2

(2> d(uv) =vdu +udv
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vdu — udv
V2

(3) d(cu)=cdu (cHHED (4) d(%) =

3. WA

Wy = f(u)

WwHRuZALE, WA  dy=f'(u)dx

AR U PR, Bu=p(X), My ZXHEGREY = flp(X)] . REZGRE
FIsRSEN, F dy=f'(u)-@'(x)dx = f'(u)du

U, AbuRARELRTEZRRE, Ky = f(X) B8 ELERR Y E M
A f'(u)du, X PR R TR AR

B2 ky=sin(2x+1) K5 dy

f# 1 dy=[sin(2x+1)]'dx = cos(2x +1) - 2dx = 2cos(2x +1)dx

22 dy=dsin(2x+1) = cos(2x +1)d(2x +1) = 2cos(2x +1)dx

er

B3 Ky= . (¥t dy
2X 2X _ A2x 2X _
&1 dy:(e )’dx=2Xe 5 € ax=° (22( 1)dx
X X X
w2 dy- d(ezx) _ xde —Zezxdx _ 2xe2xdx2—ezxdx _ e“(zﬁ—l) dx

X X X X
Bl 4 FIFRr R e e =a*b? prifie ks R 5 y E‘J%iﬂt%
e XOIREMILS MRS, 3 d(e?)=d(@h’)
e¥d(xy) =b’d(a*)+a*d(b”)
e (ydx+ xdy) =b*a* Inadx + a*b? In bdy
e™ (ydx + xdy) = a*b? (In adx + In bdy)

(x=Inb)dy = (Ina— y)dx
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dy Ina-y

R =
! dx x-Inb

=, WA EE LT E P RN

Al smiE, 2 |Ax

ARSI, ] AR R ARl dy RIS s 3 & Ay » Bl
Ay = f (X, +AX)— f(x,) = dy (2-6-1)

— IR [AX| N, STV RS, TR dy B AY RS, TBA2-6-1) R S
M. TIN5 T R S IR T S R R R

1. THERECEERIEUE

Bl5 —HEEE ARG, F4210em H325510.05em, [ A AR LE N T £

b2
fRORE IR AT, WRNS, W S=ar?
HAR@2-6-1) 5  AS ~dS = 2arAr = 27 x10x 0.05 = zcm?
BY A R KL T rem?
2. TET REERIEUE
H1(2-6-1) ] 15 f (%, +AX) — f(x,) ~dy = f'(x,)Ax
HIEE] f (X +AX) = f(X,)+ T'(x,)AX (2-6-2)

IAAE B X A0 F (%) AT F1(Xo) POMEERZE 5 50, T 4, 24 |AX| AR /NI, st T DA H

(2-6-2) THEEER%L T (X) 78 X, AL (K R Bl (X, + AX) PR AUA.
71 6 15 sin 46° (1L M

. T T T T
i f(x)=sinx, FHN46°=45°+1°="—4+ ", HIX, =—, AX=—,
Rt 4 180 ° 4 180
mT f'(X)=cosx , &HRHE
T A2 J2
f(x,)=f(5)=sin>==— , f'(x,)=cos~=—
() = () =sinT= = 1(x) .
RAAR (2-6-2) 43 sin 46z§+72x%:0.7071+O.0123:0.7194

AR (2:6:2) d1,4 %, =0, Ax=X, TH
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f(x) ~ f(0)+ f'(0)x (2-6-3)

++4X

AR/ T BRI S £ (X) 2 50X = O BRI AMEL . FATRTBARI T 23K
(2-6-3)HEFF LAR JLANE TR B AR AL 22 2K

(1 e =1+X (2) In(1+Xx) =~ x (3) sinx = X
(4) tanx =~ X (5) ”\/1+Xz1+lx (6) arcsinx =~ x
n

Bk A AEE B AT
B 7 53102 , e frm R

B (D FENAR 5) B Y102 =3110.02 zl+%x0.02 ~1.0067

(2) FIAEMAR (1 £ e % ~1+(-0.001) = 0.999

& 2-6
1. RFFISREI R
(1) y=x*+3x-2 (2 y:In(1+eX2)
(3) y=e"cosx (4) y=e"*
(5) y=arcsiny1— x> (6) y=tan®(1+2x?)

(7 y= (8) y=(e*+e™)?

x? +1

2. SRelt R BT MR y a@@;@z%

(1) x+y=arctany (2) ye*+Iny=1
3. KIEAMHIRKAUEN NG SN, s aUaor
(L d( ) = 2dx (2> d( ) = 3xdx
(3) d( ) = COS wxdx (4> d( ):idx
X+2
1

(5) d =e?*dx (6) d = ——dx

( ) ( ) x
(7) d(sin?x) =( )d (sin x)
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4\

(8 d[In(2x+3)] = (

FI B8 3R R 51 4% A e
(1) 3/1010 (2) e®™

)d(2x+3) =(

(3) c0s29°

)dx

(4> In1.002
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